Which of the following options are true regarding inference with reference to classical Indian
system of logic?

(A) It is deductive
(B) It is inductive
(C) It has to be formally valid

(D) It has to be materially true

Choose the correct answer from the options given below :
(1) (A). (B) and (D) only (2) (A). (B) and (C) only
(3) (A). (C) and (D) only 4) (A). (B). (C) and (D) only
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22)  The collection of all the objects to which a term may correctly be applied is called :
(A)  The intension of that term
(B) Connotation of that term
(©) The extension of that term
(D Denotation of that term

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B)and (C)only
(3) (A) and (D) only (4) (C)and (D) only
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“The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of
junkies”.

Which fallacy is committed in the above statement?

(1) Red Herring

(2) Strawman

(3) Argument against the person (ad hominem)

(4) Hasty Generalization
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Reason (R) :
Asgertion (A):  The Naiyayikas did not give separate treatment of the inductive methods,
as the western logicians have done.

Beasons (R) : According to Nyava school universal propostions are obtained from
perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements, choose the correct answer from the options given below :

{1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Eoth (A) and (R) are true but (R) is NOT the correct explanation of (A)
{3) (A} 18 true but (R) 1s false

(4) (A} 1s false but (R) 1= true
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Given below are two statements :

Statement I: Sesavata is the inference of what remains (sesa) by elimination of the
irrelevant,

Statement IT : éesavata inference corresponds to the method of residues in western
inductive logic.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I is false but Statement I is true
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37
) Identify from the following those values which are called “Sattvika Valueg”

(A) Compassion

(B)  Jealousy
(C)  Respect
(D)  Falzehood

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B)and (C)only

(3)  (C)and (D) only (4) (A)and (C) only
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): The argument “Evervthing iz nameable because it is knowlegable” is
fallacious.

Reasons (R) : There is nothing that is not nameable and I cannot find a place where,
because of the absence of the major term. the middle term is also absent.

In the light of the above statements, choose the most appropriate answer from the options
given below :

1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(3) (A) 1= correct but (R) is not correct

(4) (A) 18 not correct but (R) 1s correct
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22) Given below are two statements :

Statement I: The terms “true’ and “false’ apply to arguments.
Statement II: The terms “true’ and false’ apply to statements.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are falze
(3) Statement I 1s true but Statement II 1s false
(4) Statement I is false but Statement II is true
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Given below are two statements :

Statement I: The fallacy of contradictory middle (viruddha) oceurs in an argument when
the middle term is found both where the major i= found and where it i= not

found.

Statement IT : The fallacy of contradictory middle (viruddha) iz committed in an argument

when the middle term is found only where major term is absent.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement T and Statement IT are true
{2) Both Statement I and Statement II are false
(3 Statement I is true but Statement I is false

(4) Statement I is false but Statement II i= true
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  For Naiyayikas. logic 1s not formalized and divorced from existence.

Reasons (R) : Naiyayika's interest in logic is for finding out the truth about the existent
world. but not merely for finding out the instrument of thought for their
own sake.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct
(4 (A) is not correct but (R) is correct

= 21 Fum f2u 0 2 vF afyEFe (Assertion A)F =9 § fafga 2 a1 7m0 35F F00 (Reason R) #

=9

q:

AiFaE (A) : Yt % wHAR, T ATHRIEg TA B 2 a4 7= e | = w2
#19 (R) : ok | Aarfiert = = fae fva ® aem oo o | 2, A T ae 39 s e

foam = ArEl F g A |

TR F2F F A 8, A4 G0 e fawed § 9 geE 30 I F 941 i

(1)
(2)
(3)
(4)

(A) 3 (R) 31 581 £ 311 (R). (A) F1 =1 =amem 2|

(A) =R (R) 21 =4 2 @6 (R), (A) Fi = =men 76 2|
(A) 7 2 FfFa (R) 791 77 2

(A) @ 7# 2 &fe (R) =71 2)

[Question ID = 2707][Question Description = Q29_GP_Set8_51_5hift2]
| 1. 1 [Option ID = 10825]
2 [Option ID = 10826]
3 [Option ID = 10827]
4 [Option ID = 10828]

2.
3.
4,



Socialized medicine is not recommended because it would result in reduction of the over all
quality of medical care. In addition, it might well bankrupt the federal treasury. This is the
whole case against socialized medicine. “What is the conclusion in the above argument?

(1) Socialized medicine 1s not recommended.

(2 Socialized medicine would result in reduction in the overall quality of medical care.
(3) Socialized medicine might bankrupt the federal treasury.

4) There are overwhelming arguments against socialized medicine.
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